§7.4 ARG B
o BT =T(Xq, -, Xn) fg(0) KT, K

R(8,T) := Ey(T — 9(9))°
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Minimum Variance Unbiased, UMVU).
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4.3, Bdk: B(1,p), FEAE: n. BT = X1 + - + X,,.
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B4.6. Sk X ~ Exp(\), FEARE: n.
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fld.4. Bk X ~ N(u,0?), FEARRE: n.
o HKEEEN
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Bl4.4.(48) & 4.7. Bk X ~ N(p, 1), FEAE: n.
o OH,TI = X —RAFGIE.
o (X, (X, — X)) AL
o Th = (X, X1 — Xo) HRAFGIHE.
o Y (Th) =T, %u M fhi Tt
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o JENA4 FHEFEI A Hp(x, 0) RESAT W 43 fi:

p(z,0) = S(0)h(z) exp{
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B14.9 & 4.14. B X ~ N(p,0?), FEAE: n.

0 0= (uoc%). m=2

T i f oL @ NC ;rr RS T
X=-1, s =—LX X% = (Tg——Tl)

(T, To) WIRREL, Bigp, o BIEmAL T
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$14.9 & 4.14(%%).
o MUNE My (B, Edp =1). WO =02, m=1:
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Bil4.15. Bk X ~ N(u, 1), FEARE: n, Kp? MUMVU it

em=10=u

o A, X2 — L1 242 HUMVU fit.
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#14.10 & 4.13. FTANAEF=20 {770, Hdb1 8.
R EH&MUMVU {1t
e Bk Y ~ B(1,p), p=0¢€[0,1], FEAE: n=20.
o A (iLk=y1+ - +yn)

n
B Vi=u, == y) = P[00 - p) Y

_ en 1og(1 ?zi'),_é@ggzb¥log(1—p))k

o N =X=Y+- -+ Yy ZEEATGITE.
o (A, p = X/20 £UMVU ftit.
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